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The term burnout refers to a “wearing out” from the pressures of work.
Burnout is a chronic condition that results as daily work stressors take

their toll on employees. (D The most widely adopted conceptualization
of burnout has been developed by Maslach and her colleagues in

their studies of human service workers. Maslach sees burnout as
consisting of three interrelated dimensions. The first dimension—
emotional exhaustion—is really the core of the burnout phenomenon.
@ Workers suffer from emotional exhaustion when they feel fatigued,

frustrated, used up, or unable to face another day on the job. The
second dimension of burnout is a lack of personal accomplishment.

(@ This aspect of the burnout phenomenon refers to workers who
see themselves as failures, incapable of effectively accomplishing
job requirements. @ Emotional labor workers enter their occupation

highly motivated although they are physically exhausted. The third
dimension of burnout is depersonalization. This dimension is relevant

only to workers who must communicate interpersonally with others (e.g.
clients, patients, students) as part of the job.
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A: Were you here last night?

B: Yes. I worked the closing shift. Why?

A: The kitchen was a mess this morning. There was food spattered on
the stove, and the ice trays were not in the freezer.

B: I guess I forgot to go over the cleaning checklist.
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A: You know how important a clean kitchen is.
B: I’'m sorry.

DI won’t let it happen again.

(@ Would you like your bill now?

(3 That’s why I forgot it yesterday.
@711l make sure you get the right order.
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12. A: Have you taken anything for your cold?

B: No, I just blow my nose a lot.
A: Have you tried nose spray?
B:

A: It works great.

B: No, thanks. I don’t like to put anything in my nose, so I’ve never
used it.

@ Yes, but it didn’t help.

@No, I don’t like nose spray.

(3 No, the pharmacy was closed.
@ Yeah, how much should I use?
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